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Q.No. Questions Mark
MULTIPLE CHOICE QUESTIONS
(Choose the correct answer)
1 In a rational number % which of the following is correct? 1
a.b=20
.a#0
b+0
d. a= b
2 | The absolute value of :—1; is 1
a =17
-11
b. =
C. 17
11
d 11
3 W‘Tch of the following is the solution of 3x —12 =0 1
-
C. x=9
d. x=15
4 Linear equations are of which degree? 1
egree 0
Degree 1
Degree 2
d. Any degree
5 Rhombus with equal diagonals become a 1
a. Parallelogram
b. Rectangle
Square
d. Kite
6 Which quadrilateral gives two isosceles triangles when cut 1

along the shorter diagonal?
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a. Parallelogram

b. Rhombus = Jx 6( 4,@(;-\',?))

c. Trapezium

d.)Kite = QX (o?aum)
)

7 What is the minimum number of._meaqu;ie[peqts required to
draw a rectangle7
@ 2
c. 3
d. 4
8 Which of the following quadrilateral have four equal sides?
a. Trapezium
b. Parallelogram
Rectangle
mhombus
9 | Thefrequency of 5 in the data 1,2,5,7,8,5,7,2,8,5,1,2 is
a. 1
. 2
é} :
. 4
10 | The sum of the observations divided by the number of
observations gives the
ean
b7 Range
c. Frequency
d. Class mark
FILL IN THE BLANKS
11 Fill in the blank with <, > or =
3 4
7 T
12 | The solution of the equation 2x —5 =3 is --?-L-:-{L
13 | The four angles of a quadrilateral add up to ——-3- ——————
14 | To draw a unique quadrilateral we need ———5——
measurements.
15 | The class size of the continuous intervals 25-30, 30-35 and

son on is --<Cor----

TRUE OR FALSE




)

16 | The standard form of the rational number — is —.
17 | The solution of an equation is the highest power of the terms
in the equation.
18 | Rhombus is a kind of parallelogram.
19 | A quadrilateral can have one of its angles equal to 180°. ‘f
20 | The mean of first 5 natural numbers is 3. (V
VERY SHORT ANSWER TYPE QUESTIONS
21 | All integers are rational numbers. Is the converse true?
Justify your answer.
(ar\\l‘eﬂgc s nojv {W L
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22 | Three consecutive even nhumbers add up to 24. Find them.
Le} 1"/\)/_ ~Araheat be X, L ondd A+4
Tan, st (k) (1t 4) = 24
Sa+6 =4
Br= &, L= g
=
ST, eued mumbess ase 6, & anol
23 | The angles of a quadrilateral are in the ratio 1:2:2:4. Find

T,Iét[heai\rlﬁlfs. ongles  be n, Ay AN and 4u- ‘
g)um'\ D‘P‘ a“ .\'\Q(%iol O\r\g[p_( Og o %\ka\o\i\lal-eﬁﬂ

ntdr+ A +Ya = 260: )
=360, = 360 = 40

a —
o
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24 | Write any four features of a parallelogram.
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25 | Observe th¥ following frequency distribution table and
answer the questions.

0-5 || 2
5-10 || 2
10-15 N 5
1520 N 5
20-25 Il 3

35 30 ||| 3

(i) What is the class size of the intervals?
(i)  What is the class mark of the interval 20-25?

C) 5 B
OD QA 425 — D¢ 5
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SHORT ANSWER TYPE QUESTIONS

26

The length of a rectangle is 2cm more than its breadth. If
the perimeter of this rectangle is 28cm, find the length and

breadth.

Le"’ '+L¢. l”\MO\‘H’\: W
Tlen \ﬂn%‘ﬁ»: x4+
Pehfnu_-f-u =a;<((y_n6 A £ beeadth
= x(aragn) = a Cata)
- Ha 44 -
Ao 44 = Q8
4’&.: .th '7(__—'6
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27 | The weight of 20 students in a class is given as follows.
Draw a frequency distribution table and answer the
following questions.

45, 46, 50, 45, 47, 51, 46, 56, 65, 60, 45, 42, 47, 50, 50,
60, 65, 51, 47, 56.
(i) Find the range.
(i)  Find the arithmetic mean.
Weight(x) | Tally marks | Frequency(f) xf
42 \ 1 42
45 in 3 135
46 \ 2 92
47 I 3 141
50 i 3 150
51 Il 2 102
56 I\ 2 112
60 0 2 120
65 I 2 130
Total 20 1024
(!) Ear\ac: 65 -4 = 23
——
6\> \ LN = |0 iqo
- 5 | Q
LONG ANSWER TYPE QUESTIONS
28 | Construct a square of diagonal 6¢cm.
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